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ThlS question paper contains two parts A and B.

Part A is compulsory which carries 25 marks. Answer all questions in Part A.

Part B consists of 5 Units. Answer any one full question from each unit.

Each questlon carries 10 marks and may have a, b, ¢ as sub questlons

L e e ; L e ; (25 Marks)
Explain about the principles of surveying. [2]

A 20m chain used for a survey was found to be 20.10m at the beginning and 20.30m at

the end of the work. The area of the plan drawn to a scale of 1cm=8m was measured with

the help of a planimeter and was found to be 32.56 sq.cm. Find the true area of the field?

Bl .

Dlstmgulsh between c]osed traverse and open traverse.

Explain how you would measure vertical angle with a theodolite?
What are different methods of setting of a curve?

Explain about the principles of Tacheometery.

What are the applications of Total station‘7

PART B
(50 Marks)

What are the different types of bearings?
The following bearings were observed while traversing with a compass

Line B.B
AB .- 226010' s
/BCT 27705' L -
DE 32448’ 1148’
Mention which station was affected by local attraction and determine the corrected
bearings? [5+5]

OR
Explam the method of testmg and adjustmg the cham e,

/is found-to be t60 long" Pa 575]
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f..»:fGround level

‘___5-How w1ll you set 0 :

What is meant by Zero circle?
The area of a figure was measured by a planimeter with the anchor point outside the

ﬁgure and the tracmg arm set to the natural scale (M lOO sq cm). The 1n1t1a1 readmg was

.{,.-"'frn the clockw1se dlrectlon Calculate the arga of the ﬁgure """ [5+5]

How do you determine the quantity of earth work for a borrow pit?
Calculate the volume of earth work by Prismoidal formula in a road embankment with

the following data in mts:

&hainage along the centre line 5 0 A00. 200 » 300 400 -

‘ 201 70 202 90 ------ 202 40

Formation level at chamage 0is 202.30m, top width is 2.00 m, side slopes are 2to 1. The
longitudinal gradient of the embankment is 1 in 100 rising. The ground is assumed to be
level all across the longitudinal section. [5+5]

State and explain in brtef about what errors are el1m1nated by repetltlon mcthod

| Explam clearly, w1th the help of 1llustrat10ns how a traverse is balanced

Distinguish between chain surveying and traverse surveying. [5+5]

Calculate the minimum radius for cubic parabola‘7

What are the applications of GPS?

Explain about the electromagnetic wave theory. [5+5]
OR

What are the components of Global posrtlomng system‘?
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